ZEeIK Y] S EERIR

@R K +)LY T A RT1)—
O@ER 1 —F—WEY fLTRF

s
¥ ——
; 12 @8 ﬂ
ST 75 3
A 0r g
= g0 Y
,, <
a
= (=)
g Vi g
EIN 'lq'hgnIl’s‘vNHg
z "IN S o
BEy c v L e
% O 8 A A X ENEE
g g8 D&
88 £ g
Sl A vl
Sw 8 sy AT
¥ w S e
= H e IR i SHSS
5 VIS
% =gl
%g <
S~ =
N
N
I
) §\
S ) ARTATHFDEEDH
] (HAREHTRBLIRESDY)
4 3
3 g
= =]
bviclh
: =
A Y 7
B—Bl

BT B A

BT S R

NEZX]

ERWEY B

SRARACIH

[FEES

=1

=

SRARACIH

[FEES

{
C ‘H

Oa—+—MEY

SLLF HSRIBW
‘ =B 25 2550/
nEnEnEnEnIInEnEnNnN
[ A e
| ‘7:" —
‘ B 7E| R i =
SHP=1000 i3 @
g B X
A;/’WE_E\Z” 31
g
KAIBE FiF 75 25
112 12

OEfRNEY B8R

2.5

HIRIBW=50 X (N-1)+25=1075

(BT, BIART (V2 —AB)DIHE 160X (N-1)+30)
(BRAEF (1 \2—>CD) DIFE:
(KABFDIHE 124X (N-1)+64)

P=5

0

85X (N-1)+45)

v}

25

12

2!
\
Lol [l L1 L1 Tel Tl DII] GLGT T 1 G [ [

75

112

OERRMEY EHR/ >

W 25, W
P=5
25|
i
JZCL‘EJ mrr&
1
75
RISATHFDHE)
O
ONFRIO—F—/1\2—
[HEF ESE
HRIEW HsRIEW
70 130
30 ‘3 30‘40 60 70
I;IT e @g g‘ |:| + + aE
=] g~
i % 4%
1 3 %
= -
AETOEA AETOEA
(ACET)
= P=6
&4 | 60 30 |30
g1 A
” 45[15

75

75
AP <1000
C—CHrm N1 R DRRFAE

3 W

P=6

0
Y
s
1]
P

75

(M F. K& F. ERAET DB E)

97.5

12.5] 47.

/N2 —ABOSA T Y IR T

[/X5—>B] (ACESYe| [/3%—>D]
P=6! P=85 P=85
30 | 30 45 | 40 45 | 40
7 a #/
45115 30 55 30 ‘ 55




